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8. What is missing?

NAVANAVAVAN

(

(3) 36 (4) 38 ()
9. 4 morethan 30 is D

(1) 34 (2) 24

(3) 43 4) 42 ( )

10. What is missing?

(1) 10 () 15
(3) 20 (4) 30 ()

2L PLOL
P PLOY

Ahmad Suling

11.

Suling buys D more lollipops than Ahmad in a week.

(1) 2 2 3
3 4 4) 8 ()
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12. 10 less than 40 is [:]

(1) 10 (2) 20

(3) 30 (4) 40 ()
13. Forty is the word for l:]

(1) 14 (2) 24

(3) 30 (4) 40 ()
14. 20 more than 17 is |:

(1) 27 2) 17

(3) 37 (4) 19 ( )

Section B: (2 marks each)

15. Write the missing numbers in words.

16. Rearrange the numbers starting with the largest.
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18.

19.

20.

21.

22.

23.

24.
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Write a number statement.
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Write in words.

3tens = ones

]
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25. O
O O
O O O

Keith Kenneth Kate

Each () represents 2 cakes.

ate 4 cakes.

26. Ring the cakes of soap into groups of 4.
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27. There are 3 buttons on each shirt. How many buttons
are there on 4 shirts?
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28. 26 children went for a picnic. 12 were boys. How many
were girls?
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29. 18 bottle caps are in a box. Sam puts in another 20. How
many are there now?
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30. Read the graph and fill in the blanks.

Singapore
Singapore
Singapore|
P
Singapore
P

Singapore

Singapore|

Singapore
)

Singapore|
D

Singapore
Singapore
D |
Singapore
235D

Singapore

Singapore
Singapore
Singapore|
Singapore
B

b

Singapore
D

o

Sook Ching | Terrence Kelly
Each :?é represents 1 stamp
5~ 81

a) Terrence has the (most , fewest)
stamps.

b)  Sook Ching has stamp(s) more
than Tim.

c) Kelly and Tim each has stamps.
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Choose the correct answer and write its number in the
brackets.

4 groups of 2 toothbrushes make toothbrushes
altogether.

(1) 6 @ 7

(3) 8 (4) 9 ()

Ty

A statement which describes the diagram is

(1) 3x3 (2) 9x3
(8) 3+3 (4) 1x3 ( )
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3.  The number after 25 is

(1) 23 (2) 24
(3) 26 (4) 27
4. There are ones in 3 tens and 4 ones.
(1) 24 (2) 34
(3) 14 (4) 30
5.
QOO 0 OO 0
Set A SetB
Set A has l:l more than Set B.
(1 2 2 3
Q) 4 4 5
6. 2morethan9is l:
(1) 10 (2) .. 11
(3 12 (4) 13 (
7. BET = E
(1) 23 (2) 24
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